








































































































































P(-2<X<8)  2 1-i = ;

(aaau)

Cov(U,  V) = E(1JV)  - E ( U )  E ( V )  =  E(UV)

Cov(U.  V)
puv = = Cov(U,  V)

uu uv

E(UV) = Cov(U,  V) = pt.\

-pi 3

zc l/4 , o<x<2

uon&dra  o i)~n~  P(9X’  c 1)  LLBD. FX(O)

(KmJ)

P(9XZ ,<  I) =

= j !dx + ‘i $dX
-l/3 2

FX(0) = P(x < 0) =
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P(X = x) = (N - M)““M
N(X) , x = 1, 2, . . . . N - M + 1

?JURIJbbh?fJ~l

5.1) P(X > x) = (N - M)‘“’
N’̂ ’

5.2) E(X) = N+I
M+I

(f#QRU”lh  152)

6.1) fil?laJ  P(X > l/2, 1 4 Y 4 2)

6.2) ~J75~Ucl?7unU7Uriuj?rJuaJ  X ?%J  Y

(mau)

6.1) P(X > f , 1 < Y & 2) = F(1.  2) - NF(  ; , 2) - F(1,  1)  + F(; , I)

6.2) aZF(x, Y) = a ’

ax  ay
_-  T(x2+y2)  = x2+y2

ax a,-  30 10

fb. y)  =
x2 iy2

10  ’
o<,x<1,o<yi3

L= 0 flu9
7, 7.1) ri?  f(y  1s) ri3u~~~~u~uiuriunlu~~~~ou’luuo.~  Y ihnu~j7  x = x

oJuRolJl~L~u~‘iJil
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i f(yIx)  dy = 1
-m

= -!- f f(x, y) dy = 1 (fUl&JWN  b’(x))
P(X)  -m

7.2) 61 f(yl\)  =
2(1  - x - y)

(1-x)’ ’
O<y<l-x,O<x<l

lc&d!u 0 5LPhr-Jna~1uas  P(Y $ 0.21s = 0.5)

(IQml)

P (Y  < 0.21X  =  0 . 5 )  = ‘i  I
2(1 - x - y)

Lo.5  1  dy
0

(1  - x)2

.2

= \ 4(1  - 2y)dy = 4 j 0.2 - (0.2)” ( = 0.64
ci

8. 8.1) 61 f(x, y) =
3x2y  + xy + I

,o<x<1,o<yc2
5

Wl~~Mtdpc  0  bgeC  j o i n t  p.d.f.  9109  X n’El  Y 89yi7 m a r g i n a l  p.d.f.  ?.I09 X

P(X)  = g (3x2y  +  xy +  1)dy

1zz (3x2.4 + x,! + 2 1 = 2- / -
2 ’

; (3x’  + x + l),O<x< 1
5 2

uo”&fiu  0
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(4.1) jFo  j ( y)

(4.3) li”  100’
j=, 20"'

(4.2) jro ( 7 )2

1 0 1 0

(4.4) z 1 (lO)(‘O)(  2o  )
k=O j = O j k 10-k

Xi = 1 h?ldCd  i’h, i = 1, 2, . . . . 6

= 0 imy

UR: x = x, + x2 + + x6 = h~aamd0rh.j

?JMldlllos

5.1) P(Xi  = 1)

5.2) E(5Xi)

5.3) E(X)

6 .  x  UA::  Y  L~PI~aLL1(5L~J~~~ij~J~~~nalllnulttriuiau  Rw.m~?“Imu

f(x,  y) = 12xy(l  - x) , 0 < x, y < 1

F(x,y)  =  kxy(x:‘y+p)  ,  O<~<l,O<y<l

t~P19”99~~~nl~ttilnttF)SRtRUjaU1IOJ  x fh y ttfi::

F(x) = kx(x’  + 1) , 0 < x < 1

t8pr~~j~~niftt~ntti79~tAtluYY  marginal 2105  X

WV11

7.1) FiTlJOJ  k LtA: p

7.2) filllOS  P(X < e!- 1 c Y d i j tttx  P(~Y  > 4)
10  ‘ 5
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0. lilHU@

f(x1y) = T , O<x<y,O<y<l

= 0 APJ

,ilu~JiJ~un?lutlulutiunl~~~l~Qu~~~oJ  x lhHW@lrjl  Y = y,  0 < y < 1

i)JHlFilllQJ  c L~8:Rluasu~lllaJ

8.1) P(1/4 < X < I/2 1 Y = 5/8)

0.2) E(X\Y  = y)

f(x,  y) = 9 + y ( 0 < x, y < 1

= 0 ,hq

WMlc;lllOS

9.1) E(5X + 4Y)

9.2) Var(2X  - Y)

10. wGp6~1

10.1) Cov(3X - 4, 3X + 4) = 9Var(X)

10.2) p
(3x-4, 3x+4) = l


